FROBQB\\'&\& Distvibution  ( Cotvuous  vandom  varidde )

Fom Discvete to Contivuous  case ¢

eq A certain —l-m:ﬁk_ hé\«r{- vemams  ved —fmr 50 seconds b a tme.
Pocly avives Cat randon ) at the Iiget and fids tE ved .
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FRc\odo'\l‘rE\a Distvbition  ( Contiiuons  vandom varidde )
K : Contirumons  Yandom vavidsle

A 'Fvu\oa\olHl'a Sstriloution  (or 'Fw\oob‘\\\—\-z) de.v\s‘ﬂ'% -fmchavx ‘Fd-f-’ ) s
a_ Funchon F sudh that

and  under this Chﬁ'ﬁbwhovx, we l’:,ave.
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e.g. A certain -l'nrﬁc. hSH vemanms  ved —fmr 50 secords at a —twme.
Avn\na awives  (at vandom ) at —he hgkf' and —f\m\s Tt ved .

Samrle Space = S - [o,50]
Let X be the vandom wvavidble that denstes the wotrhng time vsf Awég
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This ’FwLa\o'ul'rl'Z} Qloysrl-a —ﬁw«chom B called a (Avﬂj?uvm ShistAbution .



(Hore examl>|es of 'Fvvbal:ill’ﬁa. devs'rba_ 'flAV\CE‘om)
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e.q. (P. %6 ExamFle n.2.4)
et X be a vondem vavidble that measwes the duvetion SF cell 'Flr\ov\e
calls W a cevtain OH’% . and assume  that X has an eKFonevrh‘al
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where £ denstes the  duvertion (v winates ) o—f a Y‘amc:lmml\a Selected  call .
a) Fnd the 'waalo\lﬂ-\a that a Y‘C:V\dom\\a selected aall lasts ne winve
Hhan [ winute .
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Remark
D P(xX=2) = P(X>2) wlma 2
2) How 4o odstuin the “Fvo\oa\oilﬁ'% distviboution 2
Even we conduct a Sivvey +o collect all data
we. lhove jp?vx‘rl-el(a maiy colls  (bwt a b‘ng Number )
then  the So.wrr(e_ Space = S = set sf all calls
K:S =R 15 a vandom vaviabde hat denstes the  duvation
image sf S 1w stil Harte.
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Crmdative.  dishilowtion f?w«chovx C c&f)
Feo = P(xX<x)
= 'Roba\oih-{-é c'f 8e'l+‘m8 value < %
Q: What s the velation beteen -he ‘Pd-f ond co.l—F 2
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We hove a tabe v dstan an aTFvoxivma'hon Gf (L
[dea : Novmal chstribations with dfferest 1. o

§ tronsRemation z =X
Make T to be the stardadd one (um=0. o=1)
And then check the zble

For dJdetail |, er +to Sesfion 114 \IE\I‘& U\SeF\Al !



